1. Choose the Bsentence from the
following options in which ‘subject’
and ‘verb’ agree.

(A) This singer along with a few
others play on harmonica on
stage.

(B) This singer along with a few
others plays on harmonica on
stage.

(C) This singer along with a few
others playing on harmonica
on stage.

(D) None of the above

2. Choose the correct grammatical
sentence from the following,

(A) Neither she nor I are prepared
to face the angry public.

(BY Neither she nor [ am prepared
to face the angry public.

LC) Neither she mnor [ were
prepared to face the angry
public.

(D) None of the above
3. A person who does not believe in God

is called
(A) theist
(B) atheist

(C) polytheist
(D) misanthropist

4. A theft from the literary works of
others is called

(A) fusion
(B) plagiarism
(C) "calibre
(D) truism

§. One who is well-versed in many

languages is described as
(A) linguist

(B) polyglot

(C) polytheist

(D) philanthropist

6. A cinema show which is held in the

afternoon is known as
(A) morning show

(B) matinee show

(C) afternoon show

(D) night show

7. A flesh-eating animal is called
(A) omnivorous
(B) carnivorous
(C) man-eating animal

(D) herbivorous

8. He takes pride his work.

(A)  of
(B) in
(C) at

(D) from

10. He is junior

11. | am fond

12. Please write your roll number

9. You should refrain ___ telling a lie.

(A) to
(B) at
(C) from

(D) for

me in service.

(A) from
B to
(C) for

(D) with

reading books.

(A) for
(B) of
(C) at

(D) with

ink.

A) with
(B) in

(€) by

(D) at

13. “I know her.”

Choose the correct passive voice of
the above sentence from the options
givep below.

She is known to me.
o) She is known by me.
(C) She will be known by me.
(D) She is being known to me.

“l am not interested in this case.”

Choose the correct active voice of
the above sentence from the options
given below.

This case does not interest me.

(B) This case does not interest in
me,

(C) I'do not take interest-in this
case.

(D) This case do not interest me.

15. Which of the following sentences is

grammatically correct?
(A) My hair are black.
(B) My hairs are black.
My hair is black.

My hairs were black.

(€

gl

16. What is the feminine gender (word)

for ‘Bachelor?
(A) Lady
(B) Maid
(C) Spinster
) @i



17. What does the idiom, In cold blood’
mean?

(A) Deliberately
(8) Indifferently
(C) In anger

(D) Partly

18. The idiom, ‘Ins and outs’ means
(A) outside and backside
(B) internally
(C) full details
(D) optionally
19. The expression, ‘A’ red-letter day’
mcans
(A) pleasantly noteworthy day
(B) 'ripc time
(C) a successful day

(D) a miserable day

20. What is the meaning of the following
sentence?

“Mr. X had to meet his Waterloo
finally.”

(A) Mr. X went under water.
(B) Mr. X was defeated thoroughly.

(C) Mr.X  desired to meet
Napoleon.

(D) "Mr. X came out victorious.

21. What is the plural of ‘Ox7?
(A) Bullocks
(B) Oxes
(€)  Oxen

(D) Cows

22. What is the plural of ‘Genius?
(A) Geniuses
Alumnus
(C) Celebrities
(D) Brainy
23. What is the plural of ‘Stafl’ used for
employee?
(A) Staffs
(B) Many staff
Staff

(D) Colleagues

24. What is the singular word for ‘Data’?
(A) Date
.,(B) Datum
(C) Database

(D) Dating

28. What is the singular word for
‘Halves?

(A) Have

(B) Halfs

(©) Halr

(D) Having

26. What is the singular word for Feet'?
(A) Loy
(B) Knee
(C) Foot
(D) Jerk

27. What is the singular word for
‘Leaves'’ ?
(A) Branch
(B) Leaf
(C) Pitches

(D) Tree leal

28. What is the singular word for ‘Cacti?
(A) Fungus
(B) Cactus
(C) Oasis
(D) Thesis

Direction (Q. Nos. 29 to 33) : Choose the
appropriate option to correct the
underlined part of the sentence.

29. “It is_raining since 7 o'clock in the
morning.”
(A) is being raining
(B) have been raining
(C) was raining
(D) has been raining

30. *Rita is a nice girl but Rani is more
nice of all students in the class.”
(A) nicer
(B) nicest
(C) much nice

(D) best

31. “Please attend of what | say.”
(A) of
(B) for
(C) to

(D) by



32. *We should always tell the truth.”
(A) speak truth
(B) tell the truth
(C) speak the truth
(D) speak out truth
33. 'I'hcywercinlcunwhenmqh.d
parted by their friends.”
(A) with
(B) about
(C) from
(D) to

34. This book provides us with
knowledge on Africa.

(A) comprehensive

(B) comprehensible

(C) compact

(D) compartment

3S. You should take proper
of medicine.

(A) doze
(B) dose
(C) daze
(D) days

36. You should know all the
of writing a good essay.

(A) cannons
(B) canons
(C) canopy

(D) canto

37. Some ficlds are and do not
produce anything.

(A) barren
(B) baron
(C) baton

(D) basin

38. You should come on — days.
(A) alternate
®B)  \ternative
(C) alter

(D) any

39. The teacher asked Ranl to it
in the classroom.

(A) straighten
(B) straight
~(C) straightly
(D) leaning

40. Hima Das had won a gold medal as
she ran than her competitors.

(A) fast
(B) fastly
(©

faster

(D) fastest

41. In an e-mail id, the prefix refers to
domain name
(B) IP address
(C) user name

(D) website name

42. Firewall in computer is used for
(A) authentication
(B) data transmission
(2] secunty

(D) monitoring

43. 'OIF’ is an extension of what type of
files?

(A) Video file
(B) Image file
(C) Audio file
(D) Text file
44. Which of the following devices

belongs to the category of ‘source
data entry device'?

(A) Digital camera
(B) Scanning device
(C) Magnetic stripe reader
(D) Al of the above
48. Which of the following is mot a
character formatting?
(A) Text Colour
(B) Alignment
(C) Font
(D) Subscript
46. Which key is used to invoke ‘spell
checker tool’?
(A) FS
(B) F6
© F7
(D) Cul + 8



47. The alignment that makes sure that

none of the edges of text appears

ragged (uneven) is
(A) left

(B) right

(C) centre

(D) justified

51. ‘GUI' stands for
(A) Graph Use Interface
(B) Graphical Universal Interface
(C) Graphical User Interface

(D) Graphical Unique Interface

52. ICT’ stands for

55. The feature that enables you to

reverse changes you have made to a
document is

(A) Move Backward

(B) Redo

[9)' unao

(D) Revert Back

5§9. ‘URL’ stands for

(A) Universal Resource Location
(B) Universal Resource Locator
€) Uniform Resource Locator

(D) Uniform Resource Location

60. The electronic pages seen in the

48, The complete name of the web Information and Computer Internet are known as
browser Apple is @ Technology 56. In a computer spreadsheet, SUM,
: AVERAGE, MIN and MAX are (A) Webpage
(A) Firefox (B) Information and Commu- examples of .
(B) Ch nications Technology (B) Website
rome :
(A) calculations
© Expl (C) Internet and  Computer e (C) Web Portal
orer :
Technol
echnology (B) formulas (D) None of the above
(D) Safari

49. The set of buttons that invokes
‘commands’ in a computer word
processing document is called

(A) Menu
(B) Button List
(C) Dialogue
(D) Toolbar
50. The application program that helps

in accessing the resources available
on the World Wide Web is

{A) Web Browser
(B) Web Server
(C) ISP

(D) None of the above

(D) Internet and Communications
Technology

53. In a computer, the tool used to find
a similar or alternative word in a
document is called

(A) Finder

(B) Thesaurus
(S) Dictionary
(D) Style Checker

54. In a computer, clipboard stores
(A) entered text
(B) copied text
(C) deleted text

(D) noved text

(C) functions

(D) procedures

1GB=?

(A) 1024 TB
(B) 1024 KB
(C) 1000 MB

!9) 124 MB

88. Which of the following is not a word

processing tool?

(A) MS-Word

(B) LibreOffice Writer
JC) Notepad

(D) WordPad

61. We can send an electronic ‘mail to

any person-in the globe provided
that the person has

(A) an Internet connection
{(B) an e-mail id
(C) a computer

(D) a website

62. The set of rules that controls

communication between two
devices is called

(A) Network

(B) Application
/

(C) Protocol

(D) Media



Which of the following is not g 71. Broadband’ is a convergence 75. In the context of animation, a trigger

63. ‘GPRS’is used in mobile phones for 67. sl W Sechnalogy fir i
(A) data communication (A) Bing (A) /voice. data and video (A) an action button that advances
(B) voice communication o (B) only video to the next slide
(C) sending SMS = 2 g, S ” :rft::::: - o ik
(D) None of the above i - (D) only voice clicked

met lorer
(D) 1mernet Exp (C) the name of a motion path

. 72. System software in a computer is an
64. Internet is a

68. A computer on Internet is identified interface between (D) All of the above
(o) dynamic and  centralized by (A) hardware and application
system software 76. In Internet terminology, IP means
(A) web address 3
(B) static and centralized system (B) application software and user (A) Internet Provider
(B) machine number
(C) static and decentralized system (C) CPU and MM Internet Protocol
(C) IP address =
(D). dynamic _ and . decentralized (D) 'keyboard and memory (C) Internet Procedure
system (B} ‘URL*
73. Whenever Crawler crawls a website, N —
65. Which of the following is a correct 69. Which ‘function key’ is used to edit a then any page not having a/link/is :
format of e-mail address? cell content? known as 77. In a computer, the correct column
address would be
(A) Name@Website@info (A) F1 (A) Doorway Page
. (A) aA
(B) Name@Website.info (B) F2 (B) Home Page
(B) 25
(C) www.Name of Website.com (C) F3 (C) Dead End Page
(C) 3B
(D) Name.Website.com D) pgq 0] Lews.Eenn
(D) CS
A 74. Programs that are automatically
66. In a database, the smallest unit of 70. Exchange of textual message in real loaded and operate as a part of
stored information is known as time over Internet is called browser are 78. The full form of ‘'OS’ is
(A) Tuple (A) e-mail (A) Add-ons (A) Order of Significance
(B) Field (B) chatting (B) Widgets (B) Operating System
(C) Record . (C) videoconferencing (C) Plug-ins (C) Open Software

(D) All of the above (D} None of the above (D) Utilities (D) Optical Sensor



83. Pulwama was in the news recently, 87. Which sector contributes the most to 91. What is the tenure of a Rajya Sabha
In which State is Pulwama the GDP of India? member?

situated?

79. The first page that is displayed in
any website is known as

(A} Banner Page (A) Agricultural sector (A) 3 years
A) Uttarakhand .
(B) Master Page @ (B) Manufacturing sector (B) 4 years

Gujarat
(C) Face Page () ) W (C) Service sector (C) S years

(C) Jammu and Kashmir (D) 6 years

(D) Home Page (D) Foreign trade sector
(D) Rajasthan
80. Which chart is the best to display 88. In which year did the Jallianwala " The eI — .movie,
trends over time? 84. The prominent writer and social Bagh Massacre occur? ll.’/;lhzge Rockstars has been directed
A Rl East rerom.:er Hemchandra Barua was (A) 1919
born in (A) Jahnu Barua
(B) Pie Chart
(A) Nagaon (B) 1920 (B) Gautam Ghosh
(C) Bar Chart C ,
N —— (C) 1929 (C) Rima Das
(D) X-Y Chart
(C) . Namrup (D)--1921 (D) “Reema Kagti
81. Article 370 of the Indian (D) Tinsukia
Constitution deals with the special 89. In which year was the first ICC 93. The year 2019 marks the 150th birth
status of Cricket World Cup staged/held? anniversary of which great leader of
85. Rainbows are formed due to the India?
(A) Mizoram phc}zomenon of (A) 1983
(A) Vallabhbhai Patel
(B) Andaman and Nicobar Islands (A) total internal reflection of light (B) 1975
‘ (B) Jawaharlal Nehru
(C) Daman and Diu (B) bending of light (C) 1979
) (C) Mahatma Gandhi
(D) Jammu and Kashmir (C) refraction of light (D) 1996
(D) Subhas Chandra Bose
_ (D) dispersion of light
82. Where is the Space Applications ’ i
Centre located in North-Eastern ) 90. Hima Das, the D.}'AmgNEx'pre:lt;{eo ": 94. The recently concluded 2019
Region? 86. Optical fibres are used in .the ot indie, Nation - General Elections have been held to
in .
W Jettist (A) computer constitute the
(A) 100 metres
(B) Chabua {B) LED light (A) 14th Lok Sabha
‘ tre
(C) Shillong (C) television () 400 metres (B) 15th Lok Sabha
(D) Aizawl (D) telephone (C) 4x400 metres (Relay) (C) 16th Lok Sabha

(D) 1000 metres (D) 17th Lok Sabha



95. Which of the following is not'a 98. In India, ‘Blue Revolution’ stands for
classical dance form?

(A) increased production of fish
(A) Bharatnatyam

(B) increased production of indigo

(B) Dandiya

(C) increased production of rape-
(C) Satriya seed
(D) Kathakali (D) increased production of

computer hard discs

96. Which vitamin is responsible for .
clotting of blood? 99. ‘Lorktak Lake’ in Manipur is the home
o

(A} Vitamin '€
(A) 'Sangai Deer
(B) Vitamin E (B) Freshwater Octopus

C) Vv i i
(C) Vitamin K (C) Olive Ridley Turtle

(D) Vitamin P (D) Indian Anaconda

97. Astrosat is 100. The Richter scale is used

to measure
the intensity of '

(A) a remote sensing satellite

(A) tidal waves
(B) a satellite used for defence

purpose B) earthquake

(C) an astronomy observatory (C) sound

(D) a navigational satellite . (D) precipitation



